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Chemistry Aptitude Test - 2021

Stage - III (For Class : XI)
Full Marks : 50 Time allowed : 1 hr. 30 mints.

Instructions:  Answer all the questions. There are 30 MCQ (1-30) in Grooup
A having 1 mark each. 0.25 mark will be deducted for wrong answers. Group B
contains 10 questions (31-40) having 2 marks each.

Group-A 1x30=30

1. For He* which of the shell has angular momentum equal to by ?
(He" 99 (P FUFT CFL (@1 S35 by @ 1311 2 )

@ K | ®) L
© M S @N
2. Which of the following spééies is non-linear ?
(fFeoe I sREaRe Tm ?) '
(a ICL- - (b) I-
(c) N, s (d) ClO,
3. Whatis the maximum number of hydrogen bonds in which a water
molecule can participate ? . |
( Gf TteTs g A4 FAC - H-bond F6a1 Sg¥i22e! IS =N 2)
(@) 1 | (b) 2
(c) 4 (d 3
4.  The Compressibility factor (RTNSIB4F) for a real gas at high
pressure is i
(THBIT AT AT TV OB T9 ?)
Pb
(@ 1 (b) 1+
Pb RT
(C) l—ﬁ- (d) 1+ Pb
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5..  Maximum deviation from ideal gas is expected from
( o o0 230 e Ry it 3t A (eIl 2209 )
(a) CH,(g) (b) NH,(g)
(c) Hyg) .(d) N,(g)

-6.  For the process H,0(¢)(1 bar, 373k) < H,O(g)(1 bar, 373k) the
* correct set of thermodynamic parameter.

(92 e o, ol Rma #ioe spafitRel c@m za?)

(8) AH=0, AS = +ve (b) AG =0, AS =-ve

(€) AG=+ve,AS=0 - (d) AG=-ve, AS =+ve

7. (NH,),S (Solid) = 2NH,(g) + H,S(g), The total pressure at equili-
brium is 9 atm. Calculate Kp.

(AR GG 5191 9 atm ZC= Kp a4¢lA1l F9)

(a) 9atm? (b) 81 atm?
(c) 108 atm? (d) None of these
8. Which of the following molecule acts as a Lewis Acid ?
(Feox o weift <2t wifies o wibaet < 2)
(a) (CH;),0 (b) (CH,),P
() CH)N . (d) (CH;),B

9.  Whichofthe followmg alkalimetal ion 1n aqueous solution is the best
conductor of electricity.

(ﬁwﬁﬂtmmwmwmﬁmwmwﬁa@m 4 orar)
(a) Li* (b) Na*
(c) Cs* (d) K*

10.  The stability of +1 oxidation state increases in the sequence —
(+] SRR Y 3 Sefarafs 27 — )
(@) Ga<In<Al<Tl (b) Al1<Ga<In<TI
(c) TiI<In<Ga<Al (d) In<TlI<Ga<Al
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11.

12.

13.

14.

15,

16.

The compound formed in the positive test for nitrogen with the
Lassaigne’s solution of an organic compound is

({0 e Ao TRTGITS A6 T i ATVt 51 {% 79
QR i3S i 21 - )

(a) Fe,[Fe(CN), . (b) Na,[Fe(CN),]

(c) Fe(CN), (d) Na,[Fe(CN),COS]
Hyperconjugation involves overlap of the following orbitals.
(RRAFAGLT- (I PP STeteteet fored 27)

(@ o-o (b) c-=n

() p-p o +(d) -

Which of the following specieé is not electrophilic in nature.
(o3 il =gl apfoawm - )

(@) c - (b) BH,

() H,0* | (d) NO,

a0 g s Br .
The IUPAC name of /[\/(/\ is
ol ' cl

(@) 1,1-dimethyl-3- bromoethyl — 5 —chloropentane
(b) 3 —bromoethyl -1 — chloro — 5 — methyphexane

- (c) 3-bromomethyl — 1 —chloro—5— methylheptane

(d) 4 -bromomethyl — 1 — chloro — 6 — methylheptane

Concentration of H,0, is 10 volume. Its strength is approximately.

( 10 SR H,0, TI0A MR 227)
(2) 3% ~ (b) 30%
() 10% () 03%

An electron travels with a velocity V ms™. For a proton to have the

 same de-Broglie V\lravelength, the velocity will be approximately.
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17.

18.

19.

( 93f0 ZERRA V ms~! @6 ‘El‘ﬁ?l‘ﬂm | 3 TGFsifeT Semitneamayy Gy

(AT (35 OIS 23 )
(@) - O
(c) 1840V | @ V

The correct order of acidic character of the following ? |
(T3 S wifrora A @ 2 )

(8) Na,0<As,0,<N,0<CLO,

() Na,0<N,0<As,0,<CLO,

(¢) N,0<CLO,<Na0<As0,

(d) CLO,<N,0<As,0,<Na,0

Which of the following is the correct order of their stability ?

- (Fes el 2fiven AT @ 2)

(@) CN<NO*<NO~ . * (b) NO-<CN <NO*
(c) NO*<CN<NO- (d) CN<NO-<NO* °

Which of the following expressions doesn’t represent Charle’s law?

(e oty AiieaeifS oot vfaess ot weam 2)

@ Ve [BEHE ] veav

OV [me]t @ veve

20.

I DAanodnfR1

273.15k
Which is the correct order of basic strength ?
(e tafG =13t qofa Ao @ 2)
(a) CH,CH; <NH; <HC=C <OH"
(b) OH <CH=C <NH, <CH,CH,”
(c) CH=C <CH,CH, <OH <NH,
(d) NH,”<OH <CH,CH, <CH=C




21.

22.

23,

24.

25,

_ % POH, vt g H,C-°CH
© B 1y @
5 H

Which is/are coloured and paramagnetic ?

( IR0/ P 3@ R coAtmisital 7)

(@) KO, (b) K0,

(¢) Both (a) & (b) (d) None of these
. BFB on hydrolysis forms.

( BF, e Rt 70 tof =)

(@) H,BO, (b) HBF,

(c) Both(a) & (b) ~ *(d) None of these

Carbogen is —

(I =T — )

(a) Pure form of carbon Wﬂ? s o)

(b) COCL |

(c) Mixure of CO & CO, (CO 3% CO, «3 fiee)
(d) Mixure of O, & CO, (0, €32 CO, &7 =)

-Most stabilized carbocation is —

(FiRT 2T FdoRE = -)

: ‘@ H2 e'Hz
) O @\c
) 9 o H,

o

The chemical formula of PAN is —

(PAN mmﬂmﬁﬁfﬂmﬁﬁ)
(a) CH, COONO (b) CH,COOONO,
(¢) NO,COOOCH, (d) CH,COONO,
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26.

27.

28.

29.

The graph representing node is —

(PR erafoald cere and 3T ?)
(a) (b) >

. Nz
© o\ - ' |

la‘ an

Structure of CrO; is Jo\til? /0 , oxidation number of Cr is —

0
( CrO, 93 91017 Cr & wcmm ~)
(a) 4 ® 5
() 6 Bl = d) 10
Which does not react as a buffer among the following ?
( G JRprerzrCet e wTa 1 2)
(a) NaH ,PO, @3] H,PO, (b) CH,COOH @3z CH. ;COONa
(c) HCI €@} NH,OH (d) H,PO, 93z NaH PO

Which one is non-arometic —

(A7 1 Ao T -SrTATD — )

(a) @ . (b)
S

0
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40,

31

32.

33.

34,

Number of ¢ and 7 bond in (CN),C = C(CN), is
((CN),C=C(CN),-9 ¢ 8 1t IH 524yt — )2

(a) 5o, 9% | (b) 50, 8
Group - B 2x10=20

A compound composed of carbon, hydrogen and chlorine contains
C=10.04% and C£=89.12%. The vapour density of the compound

is 59.75. Determine its molecular formula.

(F, 2R0GITEA 6 @R FES ¢Ff GTTst 10.04% T @R
89.17% CFIfE IS | (AT Ir-7TTg 59.75 | 5 ST AT

e IRl

The velocity of the electron revolving in a certain orbit of H-atom is

_ L {imesthe velocity of light. Find the orbit in which the electron

275
is revolving.

SR (PR T 00 = ? )

Explain why the ionisation potentials of Inert gases are vety high

while that of alkali metals are very low.
(ﬁ@ﬂmwﬁwmﬁ,mwmwm ?)

Determine the volume of 2.2gCO, at 75°C and 570 mm Hg pressure.

Consider Co, behave ideally.
(25°C TSRS 570 mm A 2.2 8 CO,

¥z e, CO, S oAt T 1)

SPICTR e [ Tl |
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35.

36.

37.

89

40,

1 mol of an ideal gas is expanded from its initial volume | L to the
final volume 100L at 25°C. What will be the change in Entropy (] )S)
for the process ?

(25°C G 1 mol Wi itaTa TRt IPioa Wiy 11, o,
% eI 100L =7 | eifEFmifbrs Frobes @wGi#= “Afads 7 514, )

The unit of Equilibrium Constant of reaction, A + 3B <, ;¢ o
L%mol2. What is the value of ‘n’ ?

(A+3B < nC R 315 09 €8 L2 mol 20a1, “n 37
TS ?)

Between LL,CO, & Na,CO,, which one decomposed at a lower temper
andwhy? | i

(Li,CO, @ Na,CO, <= g (IATG freveteiar Reaifere 2 e )

Why nitrobenzene can be used as solvent in Friedel - crafts reaction 2

(aﬁ@m@mwmedel-&aﬁsmmﬁﬂmwww
@F?) |

In sulphur estimation by carius method, 0,79 g of an organic compound
gave 1.164 g of Barium sulphate. Calculate the

percentage of sulphur
in the compound.

hydrolysis,

(BeCl,, CaCl,, BaCl, Gy Rerers T TN s )
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